D-ADI10 Last practice assessment of 2018!
1.  Shown here is the graph of the first
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3. How many Wts does f have over the 1nterva1 [l 8]? Explam
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For 4 and 5, refer to the function f(x) = 2x° — —x + x . Calculations/analysis do not need to be repeated if

you need to make reference to the other problem.
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4. Find an w or the function f(x). Justify your response. -
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5. Find the mterval( ) over Whlch f (x) is concave up Justify your response
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6. Find any intervals for which f(x) = Ix3+lx2_2is decrgasing and concave down. Show the
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7. State why the MVT is applicable to f(x) = vx on the interval [0,4] Find the value of ¢ guaranteed to
exist by the Mean Value Theorem for f(x). £ /i) = . " ' '
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D-ADT: Use the graph for #7 and 8. —

8. Shown here is f'(x) the first derivative of f(x). Give any interval(s) where f(x) is decreasing. Justify.
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9. Does f have 2 or 3 relative extrema? Explain in detail, including =2
locations and classifications. ; ﬁ
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10. Find the absolute extrema for f(x) = x* — 2x% -3 on the interval [-2,0] : \.\ C-
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11. Find and classify any relative extrema. Justify your classifications. f(x) = x* — 2x% + 4
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12. For what interval(s) is the function f(x) = —x® + 3x2 ~ 3 1ncreasmg\5 Justify your answer.
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13. Find the slope of the line tangent to 3 2x = 4x3 + Sny + 2x? at the point (—1, —1).
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